SAP ABAP table V 52GH B {Generated Table for View}

V 52GH B-MANDT = TOOO MANDT

o= 0N
V 52GH_B-GCATE = T52G2-GCATE (o N
V 52GH B-DBCOD = T52G7 DBCOD’ 0N

= — -

TOO0O

MANDT [CLNT (3)]

T500L

MOLGA [CHAR (2)]

T52G0

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

JURIS [CHAR (4)]

T52G2

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

GCATE [CHAR (1)]

T52G7

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

GCATE [CHAR (1)]

DBCOD [CHAR (2)]

T52G9

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

GNMOD [CHAR (6)]

T52GB

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

NXMOD [CHAR (6)]

T52GD

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

REMOD [CHAR (6)]

T52GF

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

JURIS [CHAR (4)]

GCATE [CHAR (1)]

DBCOD [CHAR (2)]

CRCOD [CHAR (3)]




